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NOTE This paper contains FIFTY (50) multlple-chmce / Assertion & Reasoning/

Matching questions, each questions carrying two (02) marks. Attempt

ALL the questlons
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If the marginal utilities of A and B
are 300 and 450 respectively and
the price of B is Rs. 60, what will
be the price of A, if the consumer
equilibrium is maintained ?

(A) Rs. 30

(B) Rs. 35

(C) Rs. 40

(D) Rs. 60

A straight line downward-sloping
demand curve implies that as price
falls, the elasticity of demand

{A) increases

B) dcercascs

(C) remains the same
D) 1is zero

A firm is producing a product for
which the total fixed cost is Rs.
60,000. For a certain level of
output, the Average cost and the
Average variable cost are Rs. 300
and Rs. 100 respectively. What is
the level of output ?

(A) 150 units
(B) 400 units

{C) 600 units

(D) 300 units

.
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4. A 'shut down' point is a point where
(A) Marginal cost curve meets the
Average variable cost curve
(B) marginal cost curve meets the
' Average cost curve
- (C) Marginal cost curve meets the
Average Revenue curve :
(D) None of the above.

5. In which market a firm's decisions
of output and price are
interdependent ?

(A) Perfectly competitive
{B) Monopsony

{C) Monopolistic competition
(D) Oligopoly

6. Marginal Physical' product
multiplied by the price per unit, is
equal to marginal revenue product
is relevant for
(A) Perfectly competitive market
(B) Monopoly market _
(C) Imperfectly competitive

market '
(D) Oligopolistic market

7. The 'Second-best Principle’ is based
- on which assumption ?
(A) Pareto optionality is attainable
(B) Pareto optionality is not
attainable
(C) Wherever possible, competition
ig desirable .
(D) All of the above.

8 High powered money is

{A) Only bank's reserves at the
Central Bank

(B) All loans of banks

{C) All loans and securities of

* banks

(D) Currencies held as bank's

reserves
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9.

10.

11.

12.

Eco. P-I1

Which of the following components
of demand for money marks a
complete break from the classical
theory ?

(A) Transactions

{B) Precautionary

(C) Speculative

(D) All of the above.

Which MPS is equal to 0.2, the
value of investment multiplier is
(A) 5

(B) 2

) 10

D) 0.8

If the shapes of LM and I8 curves

are normal and if money supply is

increased, then

(A) LM curve shifts to the right
and interest rate declines

(B) LM curve shifts to the right

and interest rate increases
(C) LM curve shifts to the left and

interest rate remains constant
(D) LM curve shifts to the left and

interest rate increases.

Which curve shows. the positive
relation between percentage change
in wages and unemployment rate ?
(A) Laffer curve

(B) Kuznets curve

(&) Lorenz curve

(D) Phillips curve
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13.

15.

16.

Fisher equation to the quantity
theory of money is

{(A) PT - MV
®) 3=

© p= %
(D) P=MT

Which of the following statements

is not correct ?

(A) Transaction demand for money
is a function of income. -

(B) Speculation demand for money
is a function of rate of interest

(C) Speculative demand for money
is a function of income

(D) Precautionary demand for

 money is a function of income.

Concept of sustainable development
was popularized through

(A) Brundtland Report

(B) World Development Report
(C) WTO Report

(D) Club of Rome

Human Development Index
excludes

(A) Life Expectancy

(B) Education

{C} Real per capita income

(D) Infant Mortality Rate

Eco. P-II
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17.

i8.

19.

20.

21,

Eco. P-II

Pattern of Development that
permits future generations to live
at least as well as the current
generation is know as

(A) Sustainable development

(B) Future Development

(C) Equitable Development

(D) balanced Development

The second five year pian in india
was based on

(A) Mahalnohis Model

(B) Harrod-Domar Model

(C) Kaldor Model

(D) Vakil-Brahmananda Model

Wage fund theory has been given
by -

(A) Adam Smith

(B} Ricardo

(C) Malthus

O) J.5. Mill

Who amongst the following was to
visualise the relationship between
rate of interest and level of
consumption

{A) A. K Sen

(B} Irving Fisher

(Cy J.M. Keynes

(D) J. R. Hicks

"Vicious circle of poverty should be
broken for economic development”
this fact has been emphasised by
(A) Nurkse

(B) Lewis

{C) Rosenstain Rodas

@) Singer

0. REstetell & azuga, ofFvasd Rz

U WAL Reel) o 0l fld Wan
WAUAL A5 W B A AR :
A) Rzl Qs

B) s Qs

© usasil Fsw
D) waea s s 8

L¢. SURAAL oflgn Ml Wisran

A) Agetolla W3
(B) du~BR A&

(C) R A

(D) afA-sBuds W
R A, el '

1, dad tfine, Rugia

(A) 2wEw Rl
(B) Anil
(C) guz
O) %, [N

ZIRL DUNAUME U, gl

R0, AR AU ST cuw L E7 M

AURAUAL 2R A oAl wrwy
s '
A) NFAQ"

(B) el AR

(€) R.ARIGw

D) . 0R, flsn

2. “oulils et adlondew, [Quase

Aled AR’ 3y gSlsa
A4) a5 |

@) adu

(C) AARWA, s,

D) AR

QUR WA,

[P.T.0.]



22

23.

24.

25.
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The displacement hypothesis in
Public expenditure theory is
associated with

(A) Wiseman-Peacock

(B) Wagner

(C) Lerner

(D) Colin-Clark .

Which of the following taxes can
not be imposed by the Central
{overnment

(A) Agricultural Income Tax

(B) Sales Tax

(C) Oectrot

(D) All of the above.

What is the meaning of fiscal deficit

in the central budget ?

{A) Budgetary deficit plus net
increase in internal and
external debt

(B) Difference between current
expenditure and current
income

(C) Budgetary deficit plus
monetised deficit

(D) Increase in the amount bor-
rowed from the Reserve Bank.

Which one of the following fiscal
action will prove to be the most
elfective in eontrolling inflation ?
(A) To have budget surplus and
to use it for repaying debt

(B) To have budget surplus and
fo preserve it as a non-
consumable income of the
treasury '

(C) To have budget surplus and
to use it to repay debt of the
commercial banks

(D) To have budget deficit and to

borrow from people and

create public debt.
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27.

28,

26. Which one of the following state-

ments is false 7
(A) Laffer curve shows relation-ship
between tax rates and tax
~ revenue '
(B) Laffer curve shows that at low
- tax-rates, increase in tax rates
increases tax revenue
{C) According to Laffer curve if the
tax rates are increased beyond
certain limit, then it will resuilt
~ in decrease in tax revenue
(D) According to Laffer curve,
increase in tax rates always
increases tax revenue.

The burden of National Public debt

is defined by E.D. Domar as

(A) the ratio of total debt to national
income

(B) the ratio of total debt to money
supply

(C) the ratio of external debt to

internal debt
(D) the ratio of external debt to
export earning

Which of the following statement is

not correct ?

(&) The formula for the tax
devolution in the 12th Finance
Coemmission has been in the
favour of population of the states

(B) The share of the states in the
sharable central taxes increa-
sed to 30.% in 12th Finance
Commisgion from 29.50% in
11th Finance Commission

{C) Aggregate share in the award of
12th finance Coemmission for
Gujarat has increased from
3.09% to 3.66%.

(D) The distribution formula used
for 12th Finance Commission is
gimilar to 11th Finance
Commission.

Eco. P-IT 9
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30.

31.

Optimum rate of tariff is
represented by the
(A) Tangency point between the
offer curve of the partner
country and trade indifference
“curve of tariff imposing country
(B) Tangency point between the
offer curve of the tariff
imposing country and trade
indifference curve of the
- partner country
(C) Intersection point between
offer curves of two countries
(D} None of these

Gross Barter Terms of Trade is
defind as '

(A) Import Quantity Index / Export
Quantity Index -~

(B} Export Quantity Index / Import
Quantity Index

(C) Export Price Index / Import
Price Index
Export Quanityt Index X

(D)_ Export Price Index

Import Price Index

When trade takes place between
two countries, under increasing
opportunity cost conditions
(A) Complete specialisation in
production is not possible
(B). Incomplete specialisation in
production is better than
complete specialisation
(C) Complete specialisation is
‘better than incomplete
specialisation
(D) Only one country can specialise
completely in production

Eco. P-II
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32. The formation of customs union  33. FUREIZR 433 wsiq gl 20

among various countries implies L (A) WA @St

(A) Introduction of single currency (B) Bsrous s DR

(B) Introduction of identical fiscal (C) Rxun vt AR
policy. @) Suranil S5 Al

(C) introduction of identical
monetary policy
(D) None of the above.

4R 2 D

33. Impact of tariff on the Welfare of  33. sarus ungen ul'.‘wm&sm., YL
the society under general SEARL R At AR, sl
equilibrium approach depends on (A) 2usd. iz WAl

its impact on
(A) Terms of Trade of a country (B) wrsiaell udt ;s

(B) Revenue from Tariff (O wsiasil Re=Us8 W2 udl WAl
(C) Expenditure associated with (D) SR UM
the collection of tariff WRell DARR WR BUHR AW D

.(D) all of the above.

34. Marshall-Lerner conditions expiain 3v. wala-otlz 1wl

(A) Impact of devaluation of @A) Bl surur ardl wr Wy,
domestic currency on terms of agtw vgantiall e
trade of a country (B) Tuell cariR el wr ovsiadl

(B) Impact of tariff on terms of AR
trade of a country ) il AoRkwiedl AL N2 e

(C) Impact of devaluation of i ?llﬂl\&!l-l-ﬂ. BRR
domestic currency on balance @) el Fis w2 wi&i aell 22
of payments of a country -ﬂ. ey 5-5 )

(D) Impact of tariff on exports of a AL 2L
country, :

85. According to Heckscher and Ohlin, 3, &R »tl 2Ugella-t sl R,
the most important cause of the ngﬁl-ﬂ ?-lli&l () a2 d.iglﬁl.d{l}
difference in the relative commodity L uoi_aa,:gb FRQ
prices is a difference in (A) KA R
(A) Factor Endowments B) e
(B) Technology : (C) 3R
(C) Tastes D) Wil wREA
{D) Demand conditions i ®
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36.

37.

38.

39.

40.

The Fiscal Responsibility and
Budget Management Act of 2003
(FRBM) mainly relates to
(A) Monitoring of SLR and CRR
(B) Monitoring of GDP debt ratic
(C) Monitoring Bank Interest rate
(D) Monitoring the Fiscal and
Revenue Deficits

The Chairman of the 12th Finance
Commission was

(A) Dr. C. Rangarajen

(B) Dr. Kelkar

(C) Dr. Govinda Rao

(D) Dr. Montek Ahluwalia

The major objective of PDS is to

(A) Control the foodgrain prices

(B) Support the producers of
foodgrains

{C) Confer higher income benefits
on the poor .

(D) Subsidize the middle income
groups of households.

Iﬁ situation of steady inflatiun,

“which of the following is not true

(A) debtors gain while creditors
lose

(B) debtors lose while creditors
gain

{C) holders of real estate gain,
while holders of stocks lose

(D) The wage and salary earners
lose. .

VAT was introduced in Gujarat in
(A) April, 2003
(B) April, 2004
(C) April, 2005
(D) April, 2006

Eco. P-I1
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41. Which of the state has highest

42,

43.

414,

density per square kms as per 2001
census 7 '

(A) West Bengal

(B) Utter Pradesh

(C) Maharashtra

(D) Bihar

Which of the following statistics
has a pair of degrees of freedom?
(A) F - Statistic |

(B) t.- Statistic

(C) Chi - square Statistic

(D) None of the above three

A major automobile manufacturers

‘has had to recall several cars from

its 1995 production line due to

quality control problems that were

not discovered with its random

final inspection procedure,

Statistically it is of

{A) Typel - error

(B) Type 11 - error

(C) Both types of errors

(D) Neither (A) nor (B) type of
error

Which of the following is a correct

statement ?

(A) A measure of peakedness of a
distribution is its Skewness

{B) An r-value close to zero
indicates a strong correlation
between two variables

(C) In an equation Y = a + bx, X -
is dependent on Y with
intercept of 'a’ on Y- axis and
'b' is coefficient of X.

(D) Calculation of mean is affected
by extreme data values.

. P-IE 13
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45.

46.

47.

48.

49.

If the distribution is positively
skewed then

(A) Mean > Median > Mode

(B} Mean < Made < Median

(C) Median < Mode < Mean

(D) Mean < Median < Mode

Which of the following is an
example of relative measure of
dispersion

(A) Standard Deviation

(B) Variance

(C) Coefficient of variation

(D) All of these.

Time Reversal Test is satisfied
when

(&) Py xPip=0
{B) Po]_ X P].U =1
©) Py xPiip>1
D) Poy x Pyp<1

The probability of picking a card.

that is red or black is
(A 1

(B) 0.5

(C) between 0.5 and 1
D) between 0 and 0.5

The value of the Gini coefficient lies
between '

{A) Oand 1

{B) -1land 1

{C) -1 and +2
(D) —wand + o

Eco. P-II
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50. Investment in heavy and basic
goods industry was emphasized in
(A) First Five Year Plan
(B) Second Five Year Plan
(C) Third Five Year Plan
(I) Fourth Five Year Plan
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